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Erratum: Unified solution of the inverse capacity problem
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Equation(20) should read
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Equation(21) should read
2 (=D ag(hwl/k)® 2 (—1)*Tag(hv/k)®  15azh° o1
9= N T 2m®B, tkr (2m)A(=1/30)  4aK% " (21)
The deduction ofB13) and (B14) should be
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The deduction ofB19) should read as follows.
The integration in right-hand side has a pole of rankt2) atx=0, thus
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Based on the generating function of Bernoulli numt@gs
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we have
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Therefore, it is given that
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Therefore, for any natural number,
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Notice thatB,,_;=0. Thus the first theorem is proved as
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